VIpEsY RS My Al KRBT Y v b <RE >

wE 1| (1)3eqQ (2)V2 ¢ Q (3)—§eq
R 2] (1){1,2,3,6,9,18} (2){10,12,14} (3){1,3,5,7,-+-}
W 3| (1)Bc A (2)A=cC (3)AcD

4 0 {1} {2} {3} {1,2} {23} {1,3} {1,2,3}

#E 5| AnB={515} AuUB=1{135,7910,11,13,15}
& 6/ ANnBNC={1,2,3,6} AUBUC=1{1,234,5,6,7912,18}

wE 7 (1){1,4689F (2){1,26,789} (3){1,689} (4){1,2,4,6,7,89}

5){4} (6){2,73 (71{1,2,3,56,7,89} (8){1,3,4,56,89}

R 8| M

AUB={234,689} AUB={157} AnNB={157} Xo<T AUB=ANB

AnB={6} ANnB={1,2345789 AUB={1,2345789} X-<T ANB=AUB



